Ratio to ATLAS

107t

1072

1073

[EEY

0.5

Rivet 3.1.10, = 3.5M events

8000 GeV pp Soft QC
B O B I B B B HO
= |t| (ATLAS) =
— EHm .
L S _|

m B
LT @ .
= C g - =
— " - -
= W =
- ‘~~B\ s _|
= ) u =
= [ =
= v Ig++ Zi7 1-defaufi—— e E
- [™— Herig++ 2:7.1 UE-EE-5 ¥ -
— |+ 8-~ Herwig 7.2.1 default 7
:, P R A RO PO R NN ENPU SO A RN TP A N RPN A R P ,:
: T ‘\ T | T T T T | T T T T | T T T T | T :
5 \Eﬂ\ E
- B -
— B ]
N CEL ]
- T i

" 1 1 1 " | 1 1 1 1 " | " 1 1 1 1 M | M 1 1 \.EI N 1 N | M 1 1
0 0.1 0.2 0.3 04

It| [GeV?]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


